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Stuff that may help!
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Test 2 Review

Show all work in the spaces provided.

For full credit:
1) Show all your work and for each problem
2) Draw and label a neat Free Body Diagram(s).
3) Include units for all quantities.
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1) Arlene is walking is to walk across a “high wire” strung horizontally between two buildings M

apart. The sag in the rope when she is at the midpoint is10°, as shown above. If her mass is
50kg , what is the tension in the rope at this point? (10 points)
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b) What is the v eb%tyafthelghﬂe ohlatwhe it gets to thahaigh

c) How much further does the lighter object travel? (3 points)
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3) Piles of snow on slippery roofs can become dangerous p
chunk of snow at the ridge of a roof with a pitch of 30°.

rojectiles as they melt. Consider a

a) What is the minimum value of the coefficient of static friction that will keep the snow from

sliding down? (6 points)
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b) As the snow begins to melt, the coefficient of statifriction decreases and the snow
eventually slips. Assuming that the distance from the chunk to the edge of the roof is 5.0m

and the coefficient of kinetic friction is0.20, calculate the speed of the snow chunk when it

slides off the roof. (6 points) 2
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c) If the edge of the roof is 8.0mabove ground, what is the speed of the snow when it hits the

ground? (4 points) > )}x _ v. G‘w Lsoo)
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4) A 28.0kg block is connected to an empty1.354g bucket by a cord running over a frictionless -1 “’_x
t m

pulley? The coefficient of static friction between the table and the block is 0.450and the €C——
coefficient of kinetic friction between the table and the block is 0.350. Sand is gradually added

to the bucket until the system just begins to move. K3

a) Calculate the mass of sand added to the bucket. (6 points) F‘ ey A s ”
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b) Calculate the acceleration of the system. (6 points)
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